ol 581 g el i i ¢ Ay e g ¢ guS Aay )

|
(3)9+ 5) X3+2)2:

1
25(4/6-5,8)+5x 2+ 7 =

3 1
G+3)

|

EEN G
1 2
—_—X2+4)7:
1
(4)1+§)X2+2)9:
2 1 1
-+ =)xX2+ ==
(5 3) 2
1
25(4,1—2,2)+5X3—§=

3
(4)9_ §)X5_5)3:

www.snowmath.com



https://www.snowmath.com

ol 58 e lleal) i i ¢ By pdie g o) sS day

?.m\: ~.‘A""L.‘J. .:“ ‘ :@Ju: _
1 26 2 1 2 137 17
- =22 ——=(——)=(—8= ——)x2+4,7]= — =4—
(3729 x5- 2= (-3)=(8) (G- x2+4T= o =4z
149 9 121 1
+— +22=—=14— 4,1 + X2+2,9= —=12—
(39 ) 3 10 10 ( ) 7 10 10
1 47 3 2 1 1 59 29
25(4,6 —5,8)+=5%x2+ —=(——)=(—11- 4+ 3Wx2+-="_=1=2
( ) 4 ( 4) ( 4) (5 3) 2 30 30

301 20 2 1

2 lyx2+43= 2 — 6= 25(41—2,2)=5x3— = =2

(2 3)>< 3 3 63 5( )+5%x3 5 8
1 39 ] w7
L X 15-542(51+3,9) = 22 = 19~ 49— yx5-53= 1 _ 1L
7 ( )= 3 2 (49— 3)% 10 10

www.snowmath.com


https://www.snowmath.com

